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Brenenune

Llensto npaktuycckoro nocobus ABNACTCA OKA3aHME TTOMOMIM CTyAeH-
TaM B OBJIAACHKH HAaBbIKAMH yc‘moii U NTHCBMEHHOK PEuM Mo Teme «CHH-
TaKkche. CHO0KHOE TPEMTOKEHNE) RUCUUILTHHEL «IlpakTika ycTHON H
TIMCEMEHHOM DM aHMIMECKOTO A3BIKaY».

CHHTAKCHC aHIMUHCKOrO A3bIKa — Janeko He caMas XOpouwio H3y4eHa u
paspaGoTaHuas TeMa B NPaKTHYECKOM TPaMMaTHKE aHITTHHCKOro f3bIKA.
Cymiectnyer HekoTopas TOTPEGHOCTL B y4eGHBIX ITOCOBUAX Kak TCOpETH-
HECKOTO, TaK ¥ MPAKTHYECKOTO XapakTepa N0 JaHHOH TeMe. Tpyu noaro-
TOBKC MPAKTHYECKOTO MOCOGHA CTABHNACH LEMb HECKONbKO BOCNONHUTE
3TOT HPOOCA, HCHIONB3YA HE TONEKO Pa3IHYHbIC U3XAHWA, HO TAKKE ONBLIT
TIPCTIOAABAHNA AHIIMACKOTO A3BIKA H OGIUEHHR ¢ HOCHTENAMH A3bIKa,

Bee ynpaxueuns umeror KOMMYHHKAaTHBHYIO HANPaBIEHHOCTS, CrPyTI-
HUPOBAHM N0 NPHHUMIY «OT OPOCTOro X CIOKHOMY», IpH WX TOn6ope 1
COCTaBjIeNMH ©OblIa MCTIONB30BANA JIHTEPATYPR, UINAHHYIO B OCICAHHE
roxsr B CHI 1 32 py6exom.

Ipaxtutucckoe nmocofue no Teme «Cunrakcnc. CroxHoe npeanoxe-
HUE» ABIACTCS YaCTbI0 KOMILTEKCA IPAKTHYCCKHX MOCOGHiE 1Mo IUCUHITIS-
ue «IlpakTuyeckas rpamMmatika AHIMICKOTO A3EIKa, APECOBAHO  CTY-
ACHTaM creunansrocted 1 - 02 03 06 01 «Anrmuiicknit s3ni. Hemenkwii
A3bIEk», 1- 02 03 06 03 «AHrHiCKHiL T3IK. DpaHIy3CKHIL TILIK» U MONET
ObITH HCIIONE30BAHO KaK BO BPCMA ay[UTOPHEIX 3aHATHH, TAK ¥ NIPH caMo-
CTOATENbHOH pabote.

The Compound Sentence
Theoretical Preliminaries

The type of classification of sentences which you will study is based
upon the number and kinds of clauses which a sentence contains. Accord-
ing to this classification, sentences are divided into four groups: simple,
compound, complex, and compound complex. In this unit we shall limit
our study to the simple sentence and the compound sentence.

Before you can understand the difference between a simple sentence
and a compound sentence, you must have a very clear idea of what is
mteant by a clause in.grammar.

A clause is a group of words that has a subject and a predicate. There
are two kinds of clauses: independent or main clauses and dependent or
subordinate clauses.

An independent clause is a group of words that has a subject and a
predicate. An independent clause does not depend upon amything else for
its meaning. It expresses a complete thought. An independent clause is a
simple sentence when it stands alone.

The officer blew his whistle and the cars stopped.

In this sentence, there are two independent clauses. The first independ-
ent clause in The officer blew his whistle. The second independent clause is
the cars stopped. These clauses could be written as two simple sentences
by omitting the conjunction and. The conjunction and does not belong to
either of the independent clauses. It simple brings the two independent
clauses together in one sentence.

The officer blew his whistle. The cars stopped.

A subordinate clause is a group of words that has a subject and a
predicate, but the clause cannot stand alone. A subordinate clause does not
express a complete thought. It depends upon the main clause for its mean-
ing. The connective, or the word that introduces the subordinate clause,
plays an important part in making it a dependent clause. In the following
sentence the subordinate clause is underlined.

The cars stopped when the officer blew his whistle.

In this sentence, the group of words, when the officer blew his whistle,
is a subordinate clause. It cannot stand alone although it has both a subject
and a predicate. The word when, which introduces the clause, makes the
words which follow it dependent upon the main clause for the meaning.




‘That is the reason why the clause, when the officer blew his whistle, is
called a dependent or a subordinate clause. :

The group of words, the cars Stopped, is an independent clause. It could
stand alone. It is the main clause in the sentence because it sates the main
idea in the sentence.

The Simple Sentence

) A simple sentence is a sentence having one subject and one predicate,

either or both of which may be compound. A simple sentence consists of
one and only one independent clause. All of the following sentences are
simple sentences, but some have compound subjects or predicates. The last
sentence has both a compound subject and a compound predicate.

John joined the Navy. (simple subject and predicate)

John and Fred joined the Marines. (compound subject)

Mary sang and plaved at the concert. (compound predicate)

Mary and Jane sang and plaved at the concert. {compound subject and
predicate)

Note that a compound subject does not mean two subjects. It means the
one subject is made up of two or more nouns or pronouns. A compound
predicate does not mean two predicates. It means that one predicate is
made up of two or more verbs or verb phrases.

The Compound Sentence

A compound sentence is 2 sentence that contains two or more inde-
pen.defnt clauses. The independent clauses of a compound sentence must
be joined in some way to indicate that the independent clauses form one
sentence.

When you put two independent clauses or two simple sentences to-
gether to form one longer sentence, you have a compound sentence:

John joined the Navy. (simple sentence)

Harry joined the Marines. (simple sentence)

If you join these two simple sentences in order to make a compound
seut.,encez you have the problem of punctuation and the problem of using a
conjunction. The following sentences show the ways in which two sjm;le
sentences might be joined to form one compound sentence:

) John joined the Navy, but Harry joined the Marines. (comma and con-
junction) 2
John joined the Navy; Harry joined the Marines. (semicolon)
John joined the Navy bur Harry joined the Marines. (conjunction only)

From these illustrations you can see that the independent clauses of a
compound sentence may be connected in one of three ways:

1 By using a comma before a conjunction

2 By using a semicolon without a conjunction

3 By using a conjunction without a comma

All three methods of writing a compound sentence are correct. How-
ever, you will use the first method, a comma before a conjunction, much
more frequently than the other two methods. You will learn more about
each method of punctuation as you progress in this unit.

Identifying the Compound Sentence

Some persons have difficulty in distinguishing between a simple sen-
tence with a compound subject or predicate, and a compound sentence.
The point to keep in mind is that the compound sentence must be the
equivalent of at least two complete simple sentences. Examine the follow-
ing illustration carefully:

The Indian squaw cocks, sews, and builds the wigwam.

This is not a compound sentence. It is a simple sentence with a com-
pound predicate. You could not possibly make two independent clauses out
of the sentence as it is written. In order to turn it into a compound sentence,
you would have to supply another subject and write the sentence as two in-
dependent clauses:

The Indian squaw cooks and sews, and she builds the wigwam.

Coordinate Conjunctions

The independent clauses of a compound sentence are often connected
by a coordinate conjunction. Coordinate means of the same rank or of
equal rank. Coordinated conjunctions are used to connect words,
phrases, and clauses of equal rank. The independent clauses of a compound
sentence are of the same rank; therefore, we use a coordinate conjunction
to connect them. The coordinate conjunctions that are commonly used for
this purpose are for, and, but, or, not, and while when it means the same as
but.

Use of the Comma and Coordinate Conjunction

When a coordinate conjunction is used in a compound sentence, it is
usually preceded by a comma. The comma should not be omitted unless
the independent clauses are very short and the thought is closely con-
nected. Observe the use of the comma and the coordinate conjunction in
each of the following compound sentences. Arthur washed our new car,

and Ned polished it.




{ may consider your plan, or I may disregard ir.

{ did not seek the position, nor do I want it.

Michael likes tennis, but he prefers to play golf.

Their team was untrained, while ours was highly trained.
Jack went to bed early, for he was very tired.

In modem writing, the comma is often omitted before the conjunctions
and and or. Careful writers, however, usually place a comma before the
conjunctions but and for. If a comma is not placed before the word Jor
when it is used as a coordinate conjunction, for might be mistaken for a
preposition.

Transitional Words

There is another type of connecting word that you may use between the
independent clauses of a compound sentence. The words that belong in this
group are not coordinate conjunctions. They are sometimes called fransi-
tional words because they are not pure conjunctions.

Some of these words have a slight connecting force. Others have some
adverbial force. But they all belong to the independent clause which they
introduce or in which they are found. Connectives that belong to this group
are always preceded by a semicolon.

Since may of these words are regarded as independent elements, they
are usually set off by commas. Words like moreover, however, therefore,
and nevertheless are usually set off. Words like then, still, yet, and so are
seldom set off by commas when they retain their adverbial force.

Sometimes the connection is made by a group of words. Expressions
like the following are transitional words and are regarded as a single con-
necting word: in fact, on the other hand, that is etc. Study the following il-
lustrations carefully:

The road was unpaved, nevertheless, we drove on in the rain.

1 missed the first boat; however, I arrived on time.

The president introduced the speaker; then he sat down again.

Ethel was sick; in fact, she had one of her usual colds.

We arrived early; as a result, we had time to visit with our friends.

We cannot get materials; consequently, we cannot finish the job.

1 became tired of doing his work; moreover, I had my own work to do.

1 did not dislike the play; on the contrary, I enjoyed it immensely.

On the page following is a list of commonly used transitional words.

Commonly Used Transitional Words
Following is a list of transitional words which are used frequently. Be-
come famitiar with them.

accordingly indeed as a result
afterwards likewise at last )
again meanwhile at the same time
anyhow moreover for example
besides namely for instance
consequently nevertheless for this reason
doubtless next in any case
eventually otherwise in fact
evidently perhaps in like manner
finally possibly in short
furthermore still on the contrary
hence then on the other hand
however therefore that is

yet thus in addition

Ex.1 Check yourself by answering the following questions:

I How many base sentences can form a compound sentence?

2 By means of what functional words are base sentences connected
into a compound sentence? )

3 Can you derive a compound sentence without any connective func-
tional words and what do you call this type of connection?

4 By what transformational rules can the second base sentence be
compressed?

5 In what case do you delete the verb in the second base sentence?

6 In what case do you apply the verb substitutes?

7 In what case do you change the finite verb into a Ving?

Ex.2 Comment on the structure of the following sentences and trans-
late them:

I I put my hand in his, and we walked away.

2 She wiped the tears from her eyes with the back of her hand, and the
smile came back to her lips. )

3 You were a bit overemphatic, and that spoiled everything.




Bill turned round, and so did we.
It was getting far into the afternoon, and the boat still moved slowly.
I’m lunching with somebody, but you can come along.
She gave me her hand, but it remained unresponsive.
He might have easily changed his mind, but he did not.
Either my invitation didn't appeal to him, or he didn't understand my
words.

10 Her heart felt tight and sore in her breast, her mind turning like an
electric fan.

11 The actor had a talent, or so the public thought.

12 Fight or get out.

13 Ted must have told him about our plan, or he may have guessed him-
self.

14 He was neither going to apologize, nor was he going to offer any ex-
planation,

15 The blue curtains won't go with the green walls, nor will they go
with the yellow lampshade.

16 The woodwork in the dining-room needs painting, so does e wood-
work in the hall.

17 We discussed the topic a bit further, then the conversation stopped.

18 You understand it perfectly well, and so does Mr. Gramm.

19 Somewhere he heard movements, and then there were foot-steps on
the stairs.

20 The air was too scented, it gave no breath.

21 1It's all fixed up, we've got his consent.

22 I'bought a pair of jeans, and he a sweater.

23 His face was rather ruddy, the cheeks thin.
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Ex.3 Connect two base sent into a 17 ds
a) by using the coordinator "and":

1 The patient’s temperature rose. The patient breathed with difficuity.

2 The old man taught the boy to fish, The boy loved the old man.

3 Leo stopped the car. The little man scrambled out of the car.

4 The typescript is not yet finished. The typist's just checking the type-
script.

5 Outside the dusk was creeping up. It was beginning to rain.

6 I heard a murmur of voices in the next room. A minute later she
came back.

7 People grew annoyed with him. He grew annoyed at himself.

8 The laughter died away. The work continued.

9 The storm of laughter arose. Even the tiniest child joined in the
laughter.

b) by using the coordinator "but"':

I They wamed me of the possible consequences. I paid no attention to
their warning.

2 The words were not strictly true. 1 never said a word against the
word.

3 His manners were pleasing. ! did not like him.

4 The heavy clouds had lifted. The weather did not improve.

5 He went across to the telephone. The telephone stopped ringing.

6 He gave the door a hard pull. The door wouldn't open.

7 The visitor merely bowed coldly. The manager sprang up and held
out his hand.

8 He asked me to write him. 1 did not write him.

©) by using the coordinator "or":

1 Deon't give up your effort. You will be sorry for giving up your effort.

2 Lets take a taxi. We'll be late for the train.

3 I'm not sure of it. { wouldn't have rung you up.

4 You shall tell him ali. I shall tell him all.

5 Lets change the subject. The guests will get bored with the conversa-
tion.
6 He must be ill. He would've come.

7 You'd better clear out. You'll regret it.
8 You must be polite. Nobody will love you.

d) by using the coordinator "nor", "neither", "either”, "nei-
ther..nor":
Model: 1) I did not play any records.
2) The guests did not ask me to play any records.
I didn't play any records, nor the guests asked me to.

il




I didn't play any records, neither did the guests ask me to.
1 didn't play any records, the guests didn't ask me to, either.
I neither played any records, nor the guests asked me to.

1 You didn't come to dinner. The other guests did not come to dinner.
2 I never use this phrase. I've never heard anyone use this phrase.

3 Hecan'tdoit. I can't do it.

4 T have never been to the circus. My friend has never been to the cir-

5 It doesn't concern you. It does not concern them.

6 My mother-in-law does not love light music. My wife does not love
light music.

7 1 never play football. I never watch football played.

¢) by using the coordinator "either...or";

He met with an accident. He forgot the date.

The book is dull. He lost interest in the book.

My hints were lost on him. He was unwilling to take them.

The secretary will do the typing. The stenographer will do the typing.
The phone is ringing. The doorbell is ringing.

You will go there at once. You will be punished.
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P by using the coordinator "so"";

1 I've got something else to think of, I'm leaving.

2 I'm quite serious. You mustn't laugh.

_3 The appointment is too important. I'm not going to miss the ap-
pointment,

4 TI've never seen him. I couldn't have recognized him.

5 He must read the paper. I must read the paper.

k“46 My sister has learned to knit. Everybody in her class has leamed to
it

Ex. 4 Respond to the following questions by d

q P

Model: Did the doctor allow her sister to go out? Is she feeling better?

12

Response: She is feeling better, but the doctor didn't allow her
4 to go out yet.

1 Would you like to go to the concert? Are the tickets easy to get?
3 2 Are you good at rowing? Does our idea of a rowing tour appeal to
3 you?
2 3 Has your friend finished his composition? What about you?
4 Was it fair yesterday? Did you ski?
5 Has the fog cleared? What about our walk?
6 Would you like fish for the second course? And what will Mary
have?
7 Shall I translate the beginning or will you?
8 Is your presence really important? Are you going to attend the dis-
cussion?
9 Do you know the camera? Can you repair the release knob?
10 Wil the boy stay out till ten? Won't he be punished for it?

Ex. 5 Translate into English:

1 Berep mepecTan, i CTaN0 HCOXHIAHHO XONOMHO.

2 OrKa3blBaThCA ObUIO HEYZOOHO, H 4 COINIACHIICS.

3 [yTHuxH mav yxe OKONO TPCX YAcoB, a JCPEBHU BCE CIHIC HC
OBII0 BUIHO.

4 [leproe oTACHCHHC GBUIO HeyauYHbIM, BTOPOE HHYYTh HC IyvHIC.

S5 HWnu s 910-TO TIEpeNyTal, HIH MHE HE OOBACHHIH KaK CIENyeT.

6 HPHXOIUATE TOYHO B B4, HHAYE Bhl MEHA HE 3aCTAHETE.

7 Ona cMmesnach BMECTE CO BCEMHU, HO Ijidaza €€ OCTABAIUCH NEYalb-
HBIMH.

8 Ou He 3HaeT 06 3TOM, U 2 TOXE.

9 MoH ponHTCIH MOLINH B KHHO, a 1 B TeaTp.

10 ME1 He OLITM TOTOBBI, M TAKCH IIPHIUTOCH OTIYCTHTS.

11 3aHaBec nOHHANCH, ¥ CIIEKTAKIb HATAJICH,

12 OH OYCHb U3MEHMIICS, OIHAKO BCE CPA3Y KE €ro Y3HAIH.

13 Ipoexan nepserit apTOOYC, YIHIA IPOCHYIACE.

14 Hu HCKYCCTBO €10 He YBIIEKA/I0, HH CIIOPTOM OH HE HHTEPECOBANCS.

15U 3TOT 3an He MOAXOAUT ANS KOHUEPTA, H AYAUTOPHS HA BTOPOM
3TaXe HE MOXET BMCCTHTE TaK MHOTO Hapomy.

16 MHe He IOHPABKIIACH 3Td POIb, K €MY TOXE.




17 EMy HE NOHPABHICS 3TOT POMaH, a MHE 71a.

18 51 He y4acTBOBAN B NLIKHEIX COPEBHOBAHMAX, U ONET TOXKE HE yda-
CTBOBAIL

19 MHe XOTen0ch NOJABILATE CBEXHM BO3AYXOM, H A IOIIEN JOMOH
NCwKoM.

20 Jupikep GONEH, ¥ KOHUEPT MPHACTCH OTIOKHTb.

21 Jlenopasn Gecesa 3aKOHYHIACDH, ITOJATH HAIIKTKH.

22 MHe GyseT BpHATHO YBUIETE BAC, H MOCH MaMe TOXE.

23 OHa CHIEJA HEMOABHXKHO, a CE3BI KATHIHCH 110 €€ EKaM.

24 OpcpaiiTecs Tenace, MHAYE HPOCTYAUTECH.

25 3akpoliTe OKHO, & TO Mbl BCE 3aMEP3HEM.

26 BaMm cnielyeT COTMauIaThCs HEeMeUIEHHO, HHaYe OyAeT Mo3aHo.

27 Bo3paxxerue ObN0 YOeAMTERBHEIM, M 1 COTJIACHICS H3MEHHTD CBOil
TUTaH.

28 [Nonoxenue GEUIO OTACHBIM, HO OH HE PACTEPAJICA.

290n cugen ¥ cieay 3a NOIUIABKaMM, 2 BOAA IUIECKanack 0 6opr
JOAKH.

30 MEl He pa3sroBapuBalH YXKe J[Ba MECANA, 1 HE X0y 3BOHHTD eMy.

31 Mnu 1 omM6aIoCck, HAK B 3TOM ZEHCTBHTENBHO YTO-TO €CTh,

The Complex Sentence
Theoretical Preliminaries

A complex sentence is a sentence that consists of one independent
clause and one or more subordinate clauses. Subordinate means lower in
rank, power, or importance. A subordinate clause is less important than an
independent clause because it depends upon the independent clause for its
meaning. The independent clause is also called the main or the principal
clause. An independent clause is a group of words that has a subject and a
predicate, and does not depend upon anything else for its meaning. It ex-
presses a complete thought, and can stand alone.

A subordinate clause is a group of words that has a subject and a
predicate, but cannot stand alone. A subordinate clause does not express a
complete thought. It should never be punctuated as if it were a complete
sentence.

A subordinate ctause is usually introduced by some type of subordinate
conjunction or by a relative pronoun. These connecting words make it clear
that the clause expresses and idea that is subordinate to the main clause.
They also join the subordinate clause to some word in the independent
clause. In the following sentences, the independent clauses and the subor-
dinate clauses are underlined.

1shall be at the station when you arrive.

She wore a beautiful dress which her grandmother had worn.

In the first sentence, the subordinate clause is when you arrive. The
clause is introduced by the subordinate conjunction when. The group of
words, when you arrive, has a subject and a predicate, but it cannot stand
alone. That is the reason why the clause is called a subordinate clause. It
depends upon the main clause for its meaning.

The subordinate clause in the second sentence is if it rains. This group
of words cannot stand alone. The clause is introduced by the subordinate
conjunction if. This conjunction helps the subordinate clause express the
idea that there is a condition upon which my going depends.

The subordinate clause in the third sentence is which her grandmother
had worn. This clause is introduced by the relative pronoun which. The
word which refers to the word dress in the independent clause. A relative
pronoun always joins a clause to the antecedent of the pronoun. In this
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sentence, the antecedent of the relative pronoun is dress. Dress is the word
to which the pronoun refers.

The relative pronoun also has an important function in the subordinate
clause. It might be the subject of the clause, the object of the verb in the
clause, the object of a preposition, or a predicate pronoun after a linking
verb.

There are three kinds of subordinate clauses: adverbial clauses, adjec-
tive clauses, and noun clauses. Each of theses different types is used as a
part of speech. That is why subordinate clauses are called adverbial
clauses, adjective clauses, and noun clauses.

The adverbial clause functions as an adverb. The adjective clause
functions as an adjective, and the noun clause functions as a noun.

Adverbs modify verbs, adjectives, and other adverbs. Adverbial clauses
also modify verbs, adjectives, and adverbs. Adjectives modify nouns and
pronouns. Adjective clauses also modify nouns and pronouns. Nouns are
used as subjects of sentences, as objects of verbs, and as objects of preposi-
tions. Noun clauses are used in the same ways.

Subordinate Clauses

The man who received the medal was my uncle. (adjective clause)

We always stop working when the bell rings. (adverbial clause)

1 believe that the bookkeeper is honest. (noun clause)

In the first sentence, the subordinate clause is the group of words, who
received the medal. The subordinate clause is an adjective clause and
modifies the word man. In the second sentence, the subordinate clause is
when the bell rings. 1t is an adverbial clause and modifies the verb stop.
This clause expresses time just as an adverb expresses time. The subordi-
nate clause in the third sentence is the group of words, that the bookkeeper
is honest. This subordinate clause is 2 noun clause and is used as the ob-
ject of the verb believe.

Adjectival Clauses. Restrictive and Nonrestrictive Clauses

An adjective clause is a subordinate clause that functions as an adjec-
tive. Adjective are used to describe or limit nouns or pronouns. An adjec-
tive clause is also used to describe or limit a noun or a pronoun.

An adjective clause is usually introduced by a relative pronoun. A rela-
tive pronoun is a pronoun that joins an adjective clause to some word in
the independent or main clause. The word to which it joins the clause is the
antecedent of the relative pronoun. The relative pronouns used in this way
are who (whom), which, and that.

Adjective Clauses Intreduced by Relative Pronouns

John brought the books that you ordered. (that- relative pronoun)

1 favoured the plan which the senator proposed. (which- refative pro-
noun)

Men who are thinkers look for facts. (who- relative pronoun)

1 saw the sal whom [ met at the office. (whom- relative pronoun)

The subordinate clause in the first sentence is thar vou ordered. It is an
adjective clause and modifies the noun books. This clause is introduced by
the relative pronoun rhat. The antecedent of the relative pronoun that is
the word books. The pronoun that joins its clause to the word books in the
main clause.

The subordinate clause in the second sentence is which the senator pro-
posed. It is an adjective clause and modifies the noun plan. The antecedent
of the relative pronoun which is the word plan. The adjective clause limits
the meaning to the plan which the senator proposed.

The subordinate clause in the third sentence is who are thinkers. The
main clause is Men look for facts. In this sentence the subordinate clause
comes between the subject and the predicate of the main clause. The sub-
ordinate clause is introduced by the relative pronoun who. The antecedent
of who is men.

The adjective clause in the fourth sentence is whom I met at the office.
This clause is introduced by the relative pronoun whom. The antecedent of
the pronoun is the word salesman.

Relative Adjectives

Sometimes an adjective clause is introduce by the word whose, which is
the possessive form of the pronoun who. In such cases the word whose
modifies a noun which follows it. When the word whose is used in an ad-

YoTawa daykaues
“foMensCKi AIRpwaTHD! YHIBEPCITIT
M5 QpaHuBIcKS i

RIBJAIATIKA | V7




jective clause, it is called a relative adjective. The word relative is used to
show that the word whose refers to its antecedent in the main clause.

That is the man whose car was stolen. (man — antecedent)

In this sentence the word whose is a relative adjective, modifying the
word car. The antecedent of whose is the word man in the main clause.
The word whose connects the clause whose car was stolen to the word
man.

Adjective Clauses Introduced by Relative Adverbs

Adjective clauses are often introduced by the relative adverbs where,
when, and why. When these adverbs introduce adjective clauses they relate
to some word in the main clause in much the same way as a relative pro-
noun does. A relative adverb always has an antecedent and join its clause
to that antecedent. In addition, a relative adverb performs the function of
an adverb in its own clause. It is called a relative adverb because it relates
to an antecedent.

1 found the house where the poet lived. (where - relative adverb)

The doctor selected a time when [ was not working. (when - relative ad-
verb)

1 discovered the reason why he is leaving. (why - relative adverb)

In the first sentence, the relative adverb is where. It introduces the
clause, where the poet lived. 1t also refers to its antecedent, house. As an
adverb, it modifies the verb fived in the snbordinate clause.

The relative adverb in the second sentence is when. Its antecedent is
time. The relative adverb when joins the clause when I was not working, to
its antecedent fime. Tt also functions as an adverb, modifying the verb was
working.

The relative adverb in the third is why. Its dent is rea-
son. It modifies the verb is leaving in its own clause.

The only difference between a relative adverb and a simple adverb is the
fact that the relative adverb is found in and adjective clause and refers to its
antecedent in the main clause. Both relative adverbs and simple adverbs
modify verbs.

“Who” and “Whom” in Subordinate Clauses

It is often difficult to determine whether to use “who” or “whom’” when
one of these words is used to introduce a subordinate clause. Always keep
in mind that who is the correct form for the nominative case, and whom is
the correct form for the objective case.

When a relative pronoun introduces a clause, it has a double function. It
joins the clause to its antecedent which is in the main clause, and in addi-
tion it performs one of the following three functions in the subordinate
clause:

1 the pronoun may be the subject of the subordinate clause.

2 the pronoun may be used as a predicate pronoun after a linking verb.

3 the pronoun may be used as the object of the verb or a preposition.

In order to determine how the pronoun is used, it is often necessary to
put the subordinate clause in grammatical order, or to transpose it.

Allen was the one who published the report. ( who - subject)

In this sentence, it is clear that who is the subject of the subordinate
clause. The form who is correct because the subject is in the nominative
case. -

The president is a man whom everyone admires. (whom - direct object)

In this sentence, the word whom is the direct object of the verb admires.
By transposing the clause, you will be able to see this clearly: everyone
admires whom. The subject of the clause is everyone, not whom.

Jack is the boy to whom they gave the camera. (whom — object of prepo-
sition)

In this sentence, the pronoun whom is the object of the preposition zo.
When the subordinate clause is transposed, the use of whom becomes clear:
they gave the camera to whom. They is the subject of the clause, not whom,

Restrictive and Nonrestrictive Clauses

Adjective clauses present a problem in ing and in p
Sometiraes the adjective clause is set off by commas. Sometimes the adjec-
tive clause is not set off by commas. The following sentences are illustra-
tions of adjective clauses that are not set off by commas:

1 spoke to the woman who was giving the demonstration.

This is the man who discovered the leak in the pipe.

1 dislike driving in a town where there are no stop signals.
In the first sentence, the adjective clause is who was giving the demon-

stration. If you leave the clause out, the meaning of the sentence is
changed. The sentence now gives no indication of who the woman was.
Since the clause identifies that woman, it is essential to the meaning of the
sentence.

In the second sentence, the clause is who discovered the leak in the pipe.
This clause restricts the meaning of the sentence to the man who discov-




ered the leak in the pipe. Therefore, it is essential to the meaning of the
sentence.

The third sentence does not mean that / dislike driving in a town. The
meaning is restricted to driving in a certain type of town; that is, in a town
where there are no stop signals.

Clauses that are necessary to the meaning of the sentence are called re-
strictive clauses. A restrictive clause is not set off by commas. A restric-
tive clause identifies the word it modifies.

Some adjective clauses are not essential to the meaning of the sentence.
They give added information, but the essential meaning of the sentence
would not be changed if such clauses were omitted. Study the following
sentences carefully:

Mr. Miller, who lived next door, moved to Canada.

Will James, who was once a cowbgy, wrote many stories.

Father, who was working in the garden, missed the broadcast.

The speaker, who was accompanied by his wife, left early.

In the first sentence, the clause, who lived next door, gives additional in-
formation about Mr. Miller, but the meaning of the sentence is not
changed if you leave the clause out. The clause does not place any restric-
tions on the meaning. Therefore, it is called a nonrestrictive clause. Nonre-
strictive clauses are set off by commas.

A nonrestrictive clause is a subordinate clause that is not essential to
the meaning of the sentence. All the clauses in the preceding illustrations
are nonrestrictive clauses. They are set off by commas. They are not
needed in the sentence to identify the person who is mentioned in the main
clause.

A monrestrictive clause functions more like an appositive or a paren-
thetical expression. You might call it a thrown in remark. That is the rea-
son why the nonrestrictive clause is set off by commas,

A continuative clause is a variant of the attributive nonrestrictive
clause, whose antecedent is not one word but a whole clause. Continuative
clauses are always separated from the principal clause by a comma. A con-
tinuative clause is introduced by the relative pronoun which.

Mr. Smith was not at home, which was a relief to her.

He had slept only in snatches, which was worse than not sleeping at
all.
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Ex. I Check yourself by answering the following questions:

What is a relative?
What are the main relatives?
What does the choice of a relative depend on?
What do you call the word to which the A-clause refers?
In what position is the A-clause embedded in the matrix sentence?
When can you compress the A-clause by deleting the relative?

7 When can you compress the A-clause by transforming its finite verb
into a V-ing (a participle)? *

8 When is the transformation of the finite verb into a V-ing not ap-
plied?

9 How can you compress an A-clause with the finite verb in the pas-
sive?

10 What time relations may the Ven express in the A-clause? How can
you compress A-clauses introduced by the relative "as™?

11 What relative is used when the antecedent is the whole matrix sen-
tence?
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Ex. 2 Identify the position of the relative in the A-clause and its an-
tecedent:

1 We have no one who can be sent in his place.

2 I talked to Norman whom I found quite an amusing fellow.

3 Did you find a place where we could make a fire?

4 Can I forget the day when we met? That is an adjective which I use
sparingly.

5 Can't you see the reason why she is so excited today?

6 In front of him he saw such a dark wasted face as he has never seen
before.

7 1 was thankful for the warmth that came from the steady buming
logs.

8 His face showed only too clearly the strain under which he was la-
bouring.

9 All you who are ready may go.

10 Itis I who am wrong.

11 Alfred Wright, who is a director of the Northern Union, has asked
me to investigate the facts of the case.
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12 One of the men whose name I don't remember told us all the par-
ticulars.

13 Give help to him who needs it.

14 On the top of the hill stood an oak whose twisted branches
strangely silhouetted against the darkening sky.

15 His nephew had no debts or money difficulties that he knew of.

16 My friend has lost the book which annoyed me immensely.

Ex. 3 Change the second, insert, sentence into an A-clause and embed
it into the matrix using

a) who, whom, which, that (delete the relative where possible):

1 All the books were sent to the little girk. The books bad pictures in
them.

2 The novel is perhaps the greatest work of human wit. The novel is
called Don Quixote.

3 The guests came in time. He invited the guests.

4 He never fell. He never climbed.

5 This is an assistant. You may fully rely on the assistant.

B) when, where, why (give also the variant with the relative deleted):

I I saw you at the moment. You were getting into the bus at the mo-
ment.

2 They were at the age. They ought to act wisely at the age.

3 We came to the house. He lived in the house.

4 The time is uncertain. We can speak to him at the time.

5 The reason is clear. He comes here so often for the reason.

6 But he could see no reason. He should not smoke for the reason.

7 1 put the necklace in the drawer. I always keep the necklace in the
drawer.

¢) such... as, the same ... as:
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1 There was such a thunderstorm. We've never heard of such a thun-
derstorm.

2 You have never read such books. He can give you such books.

3 She wears the same kind of ciothes. Her sister wears the same kind
of clothes.

4 She showed me the same photo of her son. She shows the same
photo of her son to everybody.

d) whose (where possible replace it by "NP of which"):

My brother has a scarf. I like the colour of his scarf.

This is a letter. [ will remember the words of the letter.

The man looked funny. The man's hair was close-cropped.

The patient could walk. The patient's strength was now restored.

He is reading a book. He greatly enjoys the plot of the book.

The scientist has been awarded the international prize. The scientist's
works are greatly appreciated.
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¢) which — sentence-substitute:

1 The summer has been very warm. It is unusual in this country.

2 They bought him a ticket for the play. That was very kind of them.

3 The tower clock struck the hour. That changed the train of his
thoughts.

4 He again heard the busy signal. It annoyed him.

Ex.4 Respond according to the model

Model: Ist Stud. (reads): This is the book which I promised you.
2nd Stud.: Which book did you say?
Ist Stud.: Which I promised you.

The man who came in the moming left a message.
He phoned me the day he arrived.

I'd like to see the film you told me about.

The novel that I am reading is not very interesting.
We went to see the house where the great man lived.
That was the actor whose voice I recognized at once.
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7 Thate the joke that Hane continually plays on me.
8 I unever smoke such cigarettes as he gave me.

9 She used every argument she knew.

10 He toid me the reason why they quarrelled.

Ex. 5 Translate into English:

1 On mor Obl HaM TI0Xa3aTE JOM, II€ OHA XHBCT.

2 Bonpoc, Ha XOTOPEIH OHa HE MOXET OTBETHTE, MHE KaXKCETCA COBCEM
TIPOCTBIM.

3 BOT KHMTa, KOTOPYIO BB [POYTETE C YIOBONBCTBUEM.

4 JleHb, KOrRa Mbl BCTPETHIINCH, 3alIOMHUIICA MHE HATOJITO.

S He MoTy nousTh BpUYnHy, NOYEMY OH yeXall, He TOPOIABLIKCE.

6 Ha €Tyk HHKTO HC OTBETII, YTO OKA3JIOCh MY CTPAHHBIM.

7 Tpona, o KOTOPO#H OHH DLTH, BPCMCHAMM TEPSUIACH B TPABE.

8 McH OKMMKHY/ YeTOBEK, YBE MU0 MHC MOKA3AIOCH COBEPLICHHO
HE3HAKOMBIM.

9 51 nckan paccka3, Ha3BaHUE KOTOPOro 5 305U

10 B xouue nexabpa peka eIc He 3aMEP3ita, H 3TO HOPA3HIIO0 €10,

11 lens, KOTOPbL MBI C TAKHM HETCPICHHEM JKAANH, HAKOHEN Ha-
CTYHIL.

12 JTom, Ha KOTOpBIiL BEL CMOTPHTE, COBCCM He TOT.

13 Ouu urpanu B TaKyK HIPY, O KOTOPOH % HE MMCT MM Maseinrero
TIPEACTABICHNS.

14 Oy ofHapysaun Takue cocOGHOCTH, 0 KOTOPBIX HHKTO HE I1003pe-
BaL.

15 Ha nelt GBUT HajieT TOT K€ KOCTIOM, B KOTOPOM OHa 6buta Ha GaH-
KeTe.

Ex.6  Change the following d sent into plex sen-

p
tences with A-clauses introduced by the sentence-substitute "which":

I He is well read in literature and this is remarkable for his age.

2 She began to tell the story herself and that spoiled everything.

3 Eventually I mentioned Mr. Smith and that put me in bad with her.

4 The cherries are ripening and this is rather unusual for early June.

5 The students did very well in the examination and that was quite ex-
pected of them.

Ex.7 Read the following passage and then do the exercises on it. In
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answers to questions, use a relative clause

Example:

Lucy was shaking the mat out of the window of the flat. Tom happened
to be passing underneath. Suddenly Lucy's baby gave a cry and she
dropped the mat. It fell on Tom and knocked his hat off.

(a) What mat are we talking about?

The mat that/which Lucy dropped or

The mat that Lucy dropped or  The mat that fetl on Tom's head.

(b) Who was Tom?

The man who was passing underneath or

The man (that/whom) the mat fell on or The man whose hat was
knocked off.

1 Mr Black usually catches the 8.10 train. This is a fast train. Today he
missed it. This annoyed him very much. He caught the 8.40. This is a slow
train and doesn't reach London till 9.40. Mr White usually travels up with
Mr Black. Today he caught the 8.10 as usual. Mr White normally borrows
Mr Black’s paper to read on the train.

As Mr Black was not there today he borrowed a paper from another
passenger, Mr Brown.

(a) What is the 8.107

(b)What is the 8.407

{c) Who is Mr White?

{d) Who is Mr Brown? (Connect him with Mr White.)

Combine the following pairs of into one sent (one for

each pair) using relative pronouns:

(e) Mr Black us{xally catches the 8.10. This is a fast train.
(f) Today he missed the 8.10. This annoyed him very much.
(g) He caught the 8.40. This doesn't get in till 9.40.

2 Mr Penn has two umbrellas, a brown one and a black one. Today he
took the black one but left it in the bus on his way to work. When he was
putting on his coat after his day's work, he saw a dark blue umbrella hang-
ing on the next hook and took it, thinking it was his. Actually it belonged
to Mr Count.

(a) What was the brown umbrella?

(b) What was the black umbrella?

(¢) What was the blue umbrella?

(d) Who was Mr Count? (Relate all your answers to Mr Penn.)

3 Jack and Tom both wanted to go to Malta for their holidays. Tom
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liked flying so he went to the Blue Skies Agency. They booked him a seat
on a tourist flight. Jack hated flying. He went to the Blue Scas Agency.
They booked him a berth on the MS Banana. Jack enjoyed his voyage on
the MS Banana, especially as he met a very pretty girl on board. She was
called Julia.

{a) What is Malta? (from the point of view of Jack and Tom)

(b) What is the Blue Skies Agency?

(c) What is the Blue Seas Agency?

(d) What is the MS Banana?

(e)Who is Julia? (Relate all your answers to Jack or Tom or both.

(f) Combine the second and third sentences in the passage into one sen-
tence (Tom . . . flight).

(g) Combine the next three sentences into one sentence.

4 George and Paul were working on Mr Jones's roof. When they
stopped work at 6.00 they left their ladder leaning against the house. At
7.00 Bill, a burglar, passed and saw the ladder. The house was now empty
as Mr and Mrs Jones were out playing cards with Mr and Mrs Smith. Bill
climbed up the ladder, got in through a first-floor window and went
straight to the main bedroom, where he opened a locked drawer with the
help of a screwdriver and pocketed Mrs Jones's jewellery. Just then Tom
returned. Tom was a student. He lodged with Mr and Mrs Jones. Bill heard
him coming. He climbed quickly out of the window, leaving his screw-
driver on the floor.

(a) Who were George and Paul?

(b) Who was Bill?

(c) Who was Tom?

(d) Who was Mrs Jones? (Mention jewellery.)

(e) Who were Mr and Mrs Smith?

(f) What ladder are we talking about?

(g) What window are we talking about?

(h) What was the screwdriver found on the floor? (Connect it with Biil.}

(i) Combine into one sentence:

George and Paul were working on the roof. They left the ladder leaning
against the house.

(j) Combine: Mr and Mrs Jones were out playing cards. They knew

nothing of the burglary till they arrived home at 11.30.

(k) Combine: Bill's fingerprints were on the screwdriver. He was later

caught by the police.
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5 Ann is an au pair girt. She works for Mr and Mrs Green, in Tunbridge
Wells. One day Mrs Green unexpectedly gave Ann the day off. (She
thought that Ann was looking rather tired.) So Ann rang up her boyfriend,
Tom, and said I'm coming up to London by the 12.10 from Tunbridge
Wells. It gets into Charing Cross at 13.10. Could you meet me for lunch?"

Yes, of course,’ said Tom, I'll meet you at the station under the clock.
We'll have lunch at the Intrepid Fox.' Tom usually goes to the Intrepid Fox
for lunch.

On the 12.10 Ann met a boy called Peter. Peter was attracted by Ann
and asked her to have lunch with him. Ann explained that she was having
lunch with Tom. "Well, I'll wait till he turns up,' said Peter. So Peter and
Ann waited under a clock, with another passenger, Mary, who had come
up to meet a boy called Paul.

Meanwhile Tom was waiting under another clock. When Ann didn't
turn up he thought she'd missed the train, and asked a porter about the next
train from Tunbridge Wells. 'The next train leaves Tunbridge Wells at
12.30," he said, ‘and gets in at 13.40. The next one gets in at 14.30." Tom
met the 12.30 but Ann wasn't on it. He couldn't meet the next train because
he had to be back at work by 14.00. So he walked slowly towards the exit,
wondering what had happened. Luckily the exit was atmost directly under
the other clock S0 he met Ann after all.
(a) Who are the Greens?

(b) What was the 12.10 from Tunbridge Wells?

(c) What was the 12.30? (Connect it with Tom.)

(d) Who was Peter? (Connect him with Ann.)

(e) Who was Paul?

(f) What is the Intrepid Fox? (Connect it with Tom.)

{(g) Combine: Mrs Green thought Ann looked tired. She gave her the
day off.

(h) Combine: Peter hated eating by himself. He hoped to have lunch
with Ann.

(i) Combine: Tom had only an hour for lunch. He couldn't wait any
longer.

(j) Combine: Mary's boyfriend didn't turn up. She ended by having
lunch with Peter.

(k) Combine: Tom and Ann wasted half an hour at the station. This
meant that they hadn't time for a proper lunch.

(1) Combine: Tom and Ann very nearly missed one another. This shows
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that you should never arrange to meet under a clock.

Ex.8 Combine the following pairs or groups of sentences by means of

relative pr any chang ry

1 You sent me a present. Thank you very much for it. (Thank you very
much for...)

2 She was dancing with a student. He had a slight limp. (two ways)

3 Tam looking after some children. They are terribly spoilt, (two ways)

4 The bed has no mattress. I sleep on this bed. (The bed I. . .}

5 Romeo and Juliet were lovers. Their parents hated each other.

6 There wasn't any directory in the telephone box. I was phoning from
this box.

7 This is Mrs Jones. Her son won the championship last year.

8 I was sitting in a chair. It suddenly collapsed. (The chair . . .)

9 Mr Smith said he was too busy to speak to me. I had come specially
1o see him.

10 The man was sitting at the desk. I had come to see this man.

1111 1 missed the train. I usually catch this train. And I had to travel on
the next. This was  a slow train. {Make into one sentence.)

12 His girl friend turned out to be an enemy spy. He trusted her abso-
lutely.

13 The car had bad brakes. We were in this car. And The man didn't
know the way. This man was driving. (Make into one sentence.}

14 This is the story of a man. His wife suddenly loses her memory.

15 We'll bave to get across the frontier. This will be difficult.

16 A man brought in a small girl. Her hand had been cut by flying glass.

17 The car crashed into a queue of people. Four of them were killed.

18 The roads were crowded with refugees. Many of them were
wounded.

19 1 was waiting for a man. He didn't turn up. (The man. . .)

20 Tom came to the party in patched jeans. This surprised the other
guests. Most of the other guests were wearing evening dress.

21 The firm is sending me to York. I work for this firm. (The firm. . .}

22 The Smiths were given rooms in the hotel. Their house had been de-
stroyed in the explosion.

23 I saw several houses. Most of them were quite unsuitable.

24 He wanted to come at 2 a.m. This didn't suit me at all.

25 This is a story of a group of boys. Their plane crashed on an unin-
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habited island.

26 They tie up parcels with string. This is so weak that the parcel usu-
ally comes to pieces before you get it home. (The string . ..)

27 He introduced me to his students. Most of them were from abroad.

28 He expected me to pay £2 for 12 eggs. Four of the eggs were broken.

29 He spoke in French. But the people didn't know French. He was
speaking to these people. {Combine these last two sentences only.)

30 The boy was a philosophy student and wanted to sit up half the night
discussing philosophy. Peter shared a flat with this boy. {two ways)

31 They gave me four very bad tyres. One of them burst before I had
driven four miles.

32 She climbed to the top of the Monument to see the wonderful view.
She had been told about this view.

331 was given this address by a man, [ met this man on a train.

34 The bar was so noisy that ! couldn't hear the person at the other end
of the line. I was telephoning from this bar. ¢

35 A man answered the phone. He said Tom was out.

36 The horse kept stopping to eat grass. I was on the horse. This (his
continual stopping) annoyed the riding instructor.

Ex. 9 Combine the following pairs or groups of sentences, using rela-
tive pronouns

1 Tom had been driving all day. He was tired and wanted to stop.

2 Ann had been sleeping in the back of the car. She felt quite fresh and
wanted to go on.

3 Paul wanted to take the mountain road. His tyres were nearly new.

4 Jack's tyres were very old. He wanted to stick to the tarred road.

5 Mary didn't know anything about mountains. She thought it would be
quite safe to climb alone.

6 He gave orders to the manager. The manager passed them on to the
foreman.

7 She said that the men were thieves. This turned out to be true.

8 The matter was reported to the Chief of Police. He ordered us all to
be arrested.

9 In prison they fed us on dry bread. Most of it was mouldy.

10 We slept in the same room as a handcuffed prisoner. His handcuffs
rattled every time he moved.

11 We lit a fire. It soon dried out our clothes.
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12 They rowed across the Atlantic. This had never been done before.

13 The lorry crashed into a bus-load of schoolchildren. Six of them were
slightly injured.

14 She refuses to use machines. This makes her work more arduous.

15 [ met Mary. She asked me to give you this.

16 The women prayed aloud all night. This kept us awake.

17 The river bed is uneven and you may be in shallow water one mo-
ment and in deep water the next. This makes it unsafe for non-swimmers.

18 Mary said that there should be a notice up warning people. Mary's
children couldn't swim.

19 Ann said that there were far too many notices. Ann's children could
swim very well.

20 He paid me £5 for cleaning ten windows. Most of them hadn't been
cleaned for at least a year.

21 Jack, the goalkeeper, and Tom, one of the backs, were injured in last
Saturday's match. Jack's injuries were very slight. He is being allowed to
play in today's match. This is a good thing because the team hasn't got an-
other goalkeeper. (Combine the last three sentences only.)

22 But Tom's leg is still in bandages. He will have to watch the match
from the stand.

23 Mr White didn't get a seat on his train this morning. This put him in a
bad temper, and caused him to be very rude to his junior partner. The jun-
for partner in turn was rude to the chief clerk; and so on all the way down
to the office boy.

24 On Monday Tom's boss suddenly asked for a report on the previous
week's figures. Tom had a hangover. He felt too sick to work fast.

25 (Combine the last two sentences only.)

26 His boss didn't drink. He saw what was the matter and wasn’t sympa-
thetic.

27 In the afternoon he rang Tom and asked why the report still hadn’t ar-
rived. The report should have been on his desk by 2 o'clock.

28 Tom's headache was now much worse. He just put the receiver down
without answering. This was just as well, as if he'd said anything he would
have been very rude.

29 Fortunately Ann, the typist, came to Tom's assistance. Ann rather
liked Tom.

30 Even so the report took three hours. It should have taken an hour and
a half.
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311 went to Munich. I had always wanted to visit Munich.

32 'Hello. Paul,' said Mr Jones to the headwaiter. The headwaiter's name
was Tom. He said ‘Good evening, sir,' without any sign of recognition.
This disappointed Mr Jones. Mr Jones liked to be recognized by headwait-
ers. (Omit the first sentence.)

33 And this time he was with Lucy. He was particularly anxious to im-
press Lucy.
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Adverbial Clauses

An adverbial clause functions in the same way as an adverb functions.
Adverbs tell how, when, where, and fo what extent the action is performed.
Adverbial clauses answer the same questions and, in addition, express sev-
eral other ideas which the simple adverb does not express.

Adverbs modify verbs, adjectives, and other adverbs. Adverbial clauses
also modify verbs, adjectives, and adverbs. The adverbial clause modifies a
verb more often than it modifies an adjective or an adverb.

Subordinate Conjunctions

An adverbial clause is usually introduced by a subordinate conjunction.
This connecting word is called a subordinate conjunction because it makes
the idea expressed by its clause subordinate to the main idea in the sen-
tence. The subordinate comjunction also shows the relation between the
subordinate clause and the word in the main clause which the subordinate
clause modifies.

The subordinate conjunction is used to show that the clause which it
introduces is a subordinate clause, and not a main clause. The subordinate
conjunction also indicates the exact type of relationship that the subordi-
nate clause has to the main clause.

The following illustrations will make clear the function of the subordi-
nate conjunction in a subordinate clause:

We listened to the radio because we wanted to_ hear the news. (adverbial
clause - modifies listened)

She will find the telegram on her desk when she_returns. (adverbial
clause — modifies will find)

In the first sentence, the subordinate clause is because we wanted to
hear the news. It is an adverbial clause and modifies the verb listened in
the main clause. The subordinate conjunction is the word because.

If you leave out the word because, the words that follow no longer ex-
press a subordinate idea. They express a complete thought. It is the word
because that makes the group of words, we wanted to hear the news, sub-
ordinate to the main clause. The subordinate conjurction is the key to the
adverbial clause.

You should become familiar with the subordinate conjunctions that are
commonly used to introduce adverbial clauses. The subordinate conjunc-
tion will help you identify the adverbial clause. It will also help you deter-
mine the kind of adverbial clause which it introduces.
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Word used as Subordinate Conjunctions

after even though till
although except though
as if unless

as - as in order that until

as if provided when

as long as provided that whenever
as 500N as since where

as though SO - as wherever
because so that whether
before than while
even if that

Kinds of Adverbial Clauses

Adverbial clauses are used to express a number of different ideas. The
following are the ten important ideas which are expressed by adverbial
clauses: time, place, manner, degree, comparison, purpose, result, condi-
tion, concession, cause (reason).

Since the subordinate conjunction helps the adverbial clause express the
idea intended, you should become familiar with the conjunctions that are
used to express certain ideas, such as time, place, etc. The following is a
list of the subordinate conjunctions commonly used in adverbial clauses of
the various types:

Time: after, before, when, whenever, since, until, as soon as, while

Place: where, wherever

Manner: as, as if, as though

Degree: that, as — as, not so — as, than

Comparison: as, than, so — as, as - as

Purpose: that, so that, in order that

Resulit: that, so that

Condition: if, provided, provided that, unless

Concession: although, though, even if

Cause: as, because, since

Ideas Expressed by Adverbial Clauses
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Time: / watched the crowd while I was waiting for you.

Place: Put the notice where it can be seen.

Manner: The soldier walks as if he were lame.

Degree: Marvin is not so industrious as his brother (is industrious)
Comparison: The train was later than it usually is.

Purpese: Ted practiced every day so that he might win the contest.
Result: The salesman was so persuasive that I finally bought the car.
Condition: ! shall attend the meeting if I have the time.

Concession: Frances will sing at the concert although she has a cold.
Cause: Gerald read the book because I recommended it.

Clauses Of Degree

An adverbial clause of degree that is introduced by the subordinate con-
junction that usually expresses a result idea as well as the idea of degree.
The degree idea is expressed by words like such, such a, and so which pre-
cede the subordinate clause.

Jane practiced so long that she became very tired.

Harold made such a poor sales record that he lost his position.

In both these sentences, the adverbial clauses introduced by that express
a degree idea and a result idea.

An adverbial clause of degree usually modifies an adjective or an ad-
verb in the main clause.

He talked so loud that he annoyed the speaker.

In this sentence, the adverbial clause that he annoyed the speaker is in-
troduced by the subordinate conjunction rhat. The adverbial clause modi-
fies the adverb so in the main clause.

The Position of an Adverbial Clause

In all the preceding iflustrations, the adverbial clause follows the main
clause. An adverbial clause is often placed at the beginning of the sentence
for emphasis, or for variety in sentence patterns. When the subordinate
clause precedes the main clause, it is usually set off by a comma.

He went to the office when it was convenient, (follows main clause)

When it was convenient, he went 1o the office. (precedes main clause)

The men work overtime whenever it is necessary. (follows main clause)

Whenever it is necessary, the men work overtime. (precedes main
clause)

In the first sentence, the adverbial clause foliows the main clause. In the
second sentence, the same adverbial clause precedes the main clause. The
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adverbial clause is placed at the beginning of the sentence for emphasis.
Since the adverbial clause is in inverted or transposed order, it is set off by
a comma.

The adverbial clause in the third sentence follows the main clause. In
the fourth sentence, this same clause is placed at the beginning of the sen-
tence for emphasis. The adverbial clause is set off by a comma because it
is in transposed order.

Sometimes it is necessary to change the position of a noun and a pro-
noun when the adverbial clause is place at the beginning of a sentence.

1 shall visit Margaret in Texas if she sends me her address.

If Margaret sends me her address, I shall visit her in Texas.

Clauses Of Comparison

In both speaking and writing, words are often omitted that are necessary
1o the grammatical completeness of the sentence. Certain words are some-
times omitted because the meaning of the sentence is perfectly clear with-
out them. Sometimes they are omitted in order to avoid using a sentence
that is awkward or monotonous.

Certain words are usually omitted in an adverbial clause of comparison
for the reasons just given. The verb is often omitted because it can be read-
ily supplied. It is important to realize that the verb has been omitted in or-
der to decide upon the correct form of the pronoun that should be used as
the subject of the verb. We often hear sentences like the following, which
are incorrect:

I am younger than him. (incorrect)

John can run as fast as us. {(incorrect)

In both sentences the incorrect form of the pronoun is used in the adver-
bial clause of comparison. If the speaker had finished the clause, he would
have used the correct form of the pronoun. When the clause is finished, it
becomes evident that the pronoun is the subject of the clause. A pronoun
used as the subject should be in the nominative case.

I am younger than he (is young). (he — subject)

John can run as fast as we (can run). (we — subject)

in the unfinished clause of comparison the word than is a conjunction,
and not a preposition. The word than introduces a clause which must be
finished grammatically. When we supply the words that are necessary to
complete the clause, we realize that the form of the pronoun should be ke
and not Aim. He is the correct form to use for the subject. The subject re-
quires the nominative case.

35



Study the following illustrations carefully. Pay special attention to the
form of the pronoun used in the adverbial clause of comparison.

You have lived longer than I (have lived). (not me)

Martha sews as well as she (sews). (not her)

Some of the men worked harder than we (worked). (not us)

I speak as correctly as he (does). (not him)

“As ~ As” and “Not So — As” In Comparisons

The connectives as — as and not so — as often used in sentences that
contain adverbial clauses of comparison. Careful writers and speakers
make a distinction in the use of these combinations. The use as - as when
the comparison is positive, and roz so ~ as when the comparison is nega-
tive.

The comparison is said to be positive when the two things compared are
approximately the same or equal. The comparison is said to be negative
when there is an inequality between the two things compared. An illustra-
tion will help make this clear.

John is as tall as his brother. (positive comparison)

John is not as tall as his father. (negative comparison)

In the first sentence, the comparison is positive. The two persons com-
pared are approximately equal in height. The combination as — as is used
to indicate this type of comparison. In the second sentence, the combina-
tion not so ~ as is used to show an inequality in height, or a negative com-
parison.

In speaking and in informal writing as — as is commonly used to show
both types of comparison — positive and negative. However, in formal writ-
ing it is advisable to observe the distinctions that discriminating writers
make.

Use of “Like” in Clauses

The word fike is commonly used as a preposition. When the word like is
used as a preposition, it should be followed by an object. If the object is a
pronoun, the pronoun should be in the objective case.

Many careful speakers and writers feel that /ike should not be used as a
conjunction to introduce a subordinate clause of manner or comparison.
The words as, as if, and as though should be used to introduce this type of
clause.

1 shall write the letter like you advised me. (colloquial)

1 shall write the letter as you advised me. (preferred)
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You look like you were tired. (colloquial)
You look as if you were tired. (preferred)

It looks like it might snow. (colloquial)
1t looks as if it might snow (preferred)

In the last years, the colloquial use of like as a conjunction has in-
creased. This use sometimes appears in print. We often hear the word like
used as a conjunction in popular television programs. However, in general,
it has not been accepted as standard English for written use.

When like is used as a preposition, it means similar fo, or in a similar
manner fo.

Mary’s hat is like the one I bought in Paris. (like - preposition)

John is like his father in temperament. (like — preposition)

Ex.1 Check yourself by answering the following questions:

1 How do you transform the insert sentence into a D-clause?

2 What position do you embed the D-clause in?

3 What functional words express the relations between two events in a
complex sentence with a D-clause?

4 What are the groups of the subordinators and the relations expressed
by them?

5 Is the rule of identity applied to D-clauses?

6 How can you compress the D-clauses whose NP-subject is identified
from the matrix sentence?

7 Which subordinators can also be deleted in such clauses?

8 How can you compress the D-clauses with a different subject em-
bedded in front of the matrix sentence?

9 How is a noun-phrase adverbialized?

10 What kind of phrases are synonyms for D-clauses?

11 What is the position of a D-phrase in the sentence?

12 What other positions can the D-clauses and D-phrases fill in?

Ex.2 Connect each pair of into a 1pl express-
ing different relations between two events:
a) time relations (mind simuli ity, priority, or i )
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1 Speak louder. I can't hear you.
1 The chairman called for discussion. The speaker finished. 2 He stood aside. She passed.
2 They all went away. It was done. 3 He rode fast. The cool wind cooled his face.
3 The sounds reached her. She drew nearer. 4 1 shall explain it again. You can understand it better.
4 She blushed. She recalled the foolish dreams. 5 The young mother tiptoed in. The baby didn't wake up.
S They dressed. They went to dinner.
6 He hummed a tune. He awaited the girl's return. e} concession relations:
7 Once he ran away. He was very small.
8 Mary is just as sweet as honey; Mary chooses so to be. He was well-read in mathematics. He was young.
9 Shut up. I read. She was always eager to be early. She was often late.

I kicked and fought and cried. He let me go.
They talked. They dined.

1

2

3 He always found time to help people. He was busy.
4 1t was March still. It was quite warm outside.

5 I will come, my dear. It is ten thousand miles.
6
7
8

12 The nurse told her a story. She went to bed,

13 We live here. The war ended. Ring me up. It is late.

14 We are friends. We know each other. She is an excellent stenographer. She is young.
1 will join you. It will rain hard.

b) place relations:

f) comparison relations:

I They came out. They went in.
2 They rested. They stopped. 1 The time flew. A minute passed.
3 She put the books. She took them from. 2 She patted the stray dog. It was her own pet.
4 Don't make noise. The child is sleeping. 3 He looked at her. He saw her for the first time.
5 She put the book. The book is lying now. 4 He writes. He is reformed.
5 The chairs were pushed back. Their occupants had just risen.
c)condition relations (first real, then unreal): 6 She stood on the platform trembling. She was going to cry.
7 He suddenly became more tender. He had never been so tender
He will go with us. We shall ask him. -(than).

You shall be my best student. You will go on so.
All will be well. She will arrive in time.

You will find it. You will look in her room.

She will come. You will invite her.

8 John was wiser now. He hadn't been so wise a year before (than).

9 He speaks French better. You speak French not so well (than).

10 Amiss is as good. He could always be as good (as ... as).

11 The nights don't last so long. The nights lasted long in December

1 shall die. They will force me 1o spend another night in that room. (not so ... as).

I will buy a radiogram. I have money. 12 The actor is not so talented. The public thinks him to be talented (not
I can't read this book in the original. I don't know Spanish. 50 ...a5).

I'shall all the same be a linguist. I can't live my life over again.

L4
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g) manner relations:
d)} purpose relations:

1 He acted. He was told to act so.

38 39




2 He addressed the letter. He was asked to address the letter,

3 She prepared her wonderful cakes. She had been doing it for years.
4 She did it exactly. She understood it.

5 He worked as much. He could work as much.

6 Describe the picture. You see the picture.

h) resuit relations:

It is late. I can't stay any longer.

She is changed. I couldn't recognize her.

The picture is marvelous. The visitors couldn't tear their eyes off it.
The rope was tight. It broke.

The tea is very sweet. It can be refreshing.

The oranges are very tired. They are not tasty.

He ran fast. I couldn't overtake him.

The lady in front wore a large hat. I couldn't see the street.
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Ex. 3 Apply the rules of compression to the D-clauses in the following
complex sentences:
a) the rule of identity and reduction:

I' One day Kitty had a serious accident while she was swinging in the
garden.
As he was a child of seven Harry displayed a great love for painting,
The task, when it was completed, seemed a very easy one.
While they were out in the country, they used to do a lot of fishing.
Though he is very young he is quite competent in this field.
Delete the subject where it is possible.

7 Keep on doing it according to the instruction unless you are directed
otherwise.

8 She spoke as if she were in a dream.

9 They danced until they were out of breath.

10 The baby will not stop crying until it is fed.

11 No sooner it had been said than it was done.

12 1f you are tired, sit down. Make any changes in the list if they are
necessary.

N
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b) the rule of compressing the D-clauses with a different subject into a
Ving-clause:

N AW N —

8

As all the guests had arrived, the hostess invited them to table.

As the windows were closed, she didn't hear the noise in the street.
As everything was settled, he paid the money.

As it was very hot, the children gladly ran down to the lake.

When the summer was over, they came back home.

‘Whien the lights were turned on, they sat to supper.

‘When the fog lifted, the planes began taking off.

As it was late when we left this town, we rode no farther than Ferrara

that night.

9

When two days had elapsed, we again set forward.

Ex.4 Use the adverbialized N-phrases instead of the D-clauses in the
Sollowing complex sentences (the rule of adverbialization):

@)

use the prepositions expressing time relations: "after", "before",

Ton", "in":

A B W N -

7

letter.
8
9
10
11
12
13
14
15

He slowed down the car before he turned round the corner.

She shook the bottle before she took the medicine.

The host looked round before he proposed the toast.

The student read the sentence twice before he commented on it.

The train jerked before it moved off.

She wiped the tears after she read the joke and laughed at it.
Christine sat thinking about what had happened after she had read the

The slot machine worked well after it had been repaired.
The room looked nicer after it was dusted.
The teacher praised the student after he heard him.
He broke his shoelace while he tried to pull it tighter.
While he was writing the letter he dated it wrong.
She had no difficulty while she was looking for the house.
While he was explaining the rule he tried to make it simpler.
While she was knitting the jumper she suddenty pulled out several

stitches.

16

After he arrived he gave us a ring.
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17 When he entered the room, the famous detective saw a visitor wait- 8 Tl1aua ropbKUMH CIIC3aMH, OHA, NOBTOPSNA: «3adeM 5 3T0 caenana’..

ing for him, 3aueM 5 9TO caenana’?..»

18 When the speaker explained the rule, he wrote a neat row of sym- 9 TIlnam, XOTs n OGCYXKAEHHBIH B ACTANAX, HC ObLI BIIONHE YAOBIETBO-
bols on the board. PHTEITEHBIM.

19 When he squeezed himself into the crowded bus, he realized that it 10 On x0pomo 3HaeT MaTEeMATHKY, XOTS H MOTOA,

‘Was a wrong one. 11 Pa3baAcHsAs 1paBUIIO, NPENOAABATCIIL cTapacs cenaTh ero npoue.

12 OH B5INOARKA YIPAKHEHHE, KAK EMY CKA3AIH,
b) use the preposition "by" expressing cause relations:

6)
I You offended me as you talked and behaved like this. 1 Tax xak nbeca GblIa CKY4HOMH, OHY yLUTH K3 TeaTpa MoclIe BTOPOro
2 You tired me as you asked me all these questions. aKTa.
3 You made me unhappy because you refused my offer. 2 Tak KaK Aenb OTHC3AA MPHOTHAKACH, OH HAYAN YKIA[LIBATH BE-
4 Mr. Chambers talked me into this absurd plan as he treated me man M.
to man. 3 Tax kak moroa 6sU1a IPEKPACHAS, ORH OTIPABWIHCH 32 rpubamu,
5 You disappoint your friends because you behave as you do. 4 Tax xax 6bUTa CEPCAMHA NETA, HOYM ObUTH CBETIIBIE H KOPOTKHE.
6 Icleaned my breast because I told you everything. 5 Koraa paborta Gbisla 3aK0HE€HA, OHM IOULTH TOMO.
6 Korpma mopanu 4aii, TOCTH CENH 3a CTOJ.
¢) use the preposition "without": 7 Korza niceMo 6bUI0 HaITHCAHO, OH NOWEN HA MOYTY OTHPAaBHTH
€ro
1 When she left, she didn't wam anyone. 8 Tak Kak e/ CUITBHEIN CHET, UM IPHAINOCH OCTATHCA OMA.
2 When they listened to the report, they didn't ask any questions.
3 When I said it, I didn't think. L]
4 When 1 bought the bag, I didn't see it. 1 TIpouuTaB MUCLMO, OK OPOCHICA HA OYTY.
5 When they changed the telephone, they didn't change the number. 2 Osa ycrniokaunasa pefeHxa, TOrakuBas ero o rojoBe.
6 When we explained the situation, we didn't involve our friends. 3 MBbI 5KOHOMHM BPCM1, 3aKa3bBas GuIeTs no Teredory.
7 When she returned the book, she didn't thank me. 4 Owna o0uaena ero, Ha3BaB ero NEHTAEM.
5 DTO ynpaKHEeHHE MOXHO YIyYMIUTE, YIPOCTHB €ro.
Ex.5 Translate into English: 6 CocraBbTe CIMCOK HO YIIAKOBKH BEUICH.
4 7 BBl OMKHBT IOXYMATh, NIPEKAE 96M PELMTHCA Ha 3TO.
8  YOupas kOMHATy, OHA HALWIA TOTEPSHHOE KOMBLIO.
1 Bynyun peGenxom, oH yBiekancs KOJLICKUHORHPOBAHKEM MApOK. 9 IoGriBas B My3ee, OH HATIACAT APYTY O CBOMX BIICYAT/ICHHAX.
2 Pa6otas Han 370# KHHTOM, MHCATENE MHOTO €3I MO CTpane. 10 On yexan, HE ITONPOLUIABIIACE.
3 BcTaBbTe apTHIIIE, TAE HEOGXOAMMO. 11 Owna npoiuuta MUMO, HE BUAS MEHS.
4 Crenaifte 510 ¥ 34BTPALUHEMY AHIO, €CIH BO3MOXKHO. 12 JKenmuHa cTOANZ IPAMO, HE NOBOPAYHBAN FOTOBHI.
5 Cuza B xage, 5 YBHICK Y€I0BEKA, KOTOPOTO KOTHA-TO BCTpEdall. 13 O nepenucan TCKCT, HE MEHSS €TO COACPHAAHHA.
6 Habupas Homep, ona ommubnacs. 14 O BOMIEN B KOMHATY, HC NO3JOPOBABITACE C HAMIL.
7 Y6upas co ctona, oHa pasbuna TAUIKY C 300TEIM 0GOAKOM.
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Ex.6 Write a composition of at least ten sentences using as many of
the compressed constructions as seems natural,

Ex.7 Connect each pair of sentences into a complex sentence with the
possible types of D-clauses and then compress them where possible:

She gets a letter from her friend. She goes to Leningrad.

He laughed. Tears poured down his face.

We began the discussion. They came.

The storm dies out. We leave the shelter.

The conductor recovers. The concert takes place.

The TV set is repaired. We watch the figure-skating program,
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Ex.8 C on the following sentences:

1 She spoke as if she were in a dream.

2 No sooner said than done.

3 Russ Kimpton was standing in the foyer as the two women came
down the steps.

4 Itisa good sign when sick people are cross.

5 Just a minute till I get my blazer.

6 Although it has been kept out of the newspapers, the date is widely
known in the diplomatic circles.

7 The little man sighed so comically that I couldn't help laughing.

8 They were married six weeks after they had met.

9 Ihad leamed the rules when young.

10 He made a mistake in subtracting the figures.

11 His hands jerked, as if they were on wires.

12 The same boy came up to where we were sitting,

13 You arnoyed me by talking and behaving like that,

14 When in London, the tourists traveled in double-deckers.

15 Jim took a bath before going to bed.

16 The night being pitch-dark, the travelers lost their way.

17 He agreed without saying a word.

Ex.9 Translate into English:

1 Mo 6€33a00THbI, KOTIa MBI MOJIOZBI.

2 Owa urpana coHaty, kak 6yAT0 BbIIIONHSIA YIPOKHEHUA.

3 S nornaxy GpIOKH, NOKA YTIO BKITFOUCH.

4 Tlasen 61 yKe TaM, KOrIa OHA BEPHYNACh.

5 On 6mn rpyb Ge3 HAMEPEHHA OOHACTD.

6 Ecnu 661 5 Bac BCTPETHI BOBpEMsl, A OBl BaM TOTa XCe BCE paccka-
3ail.

7 S cornacumrcs KYIHUTD IICHKA, HE BIAA €ro.

8 Xotsa npeanoxenye 6bU10 3aMaHYUBO, OH HAEN B cebe CHIbI OTKA-
3aTHCA OT HETO.

9 OwHa cacnana 510 3aMe9aHuE, He TyMast.

10 Xora OHa YacTo onasAbiBaNa, OH& BCETAA CTPEMMIIAcCh NPHXONHTE
BOBpEMS.

11 51 cnelury ero Tak, Kak 6yATO OH COBCEM PSIOM.

12 3aKOHYMB KHHTY, OH JONTO JyMAl O CYAs0¢ repoes.

13 BrIcnymaB NOCCTHTENBHULLY, § CKa3all, YTO HMYEro HEe MOrY Ui
Hee CHENATh,

14 Ecnu notpebyercs, GynyT gans1 1o6aBo4Hble TOAPOGHOCTH.

I5 On momoxaan, npexzae uem BOATH B KOMHATY.

16 1 BeyqusI 9TO CTUXOTBOPEHHE, TUTAs €10 MHOTO Pa3.

17 XoTs 3T0 U BRIIVISAMT HENPaBXOMOAOOHBIM, TCM HE MEHEE 3TO TaK.

18 Tak kax B Jiecy GHUIO TPOXJIAAHO, HAM HE XOTEIOCh YXOIHTS.

19 Owa TaK ycrana, 9To ceifqac JKe JIerjia Charh.

20 Mosxap 6601 TaK0H CHNBHBLH, 4TO MBI TPOMOKITH 110 HUTKH.

21 Tax xax MallHHa I1a ¢ GOIBWONR CKOPOCTRIO, MBI NPOEXaiK I0BO-
POT HaNCBO.

22 5l ronebaics, Mpex/e YeM OTBETHT.

23 Ow nocMoTpen Ha Hee, Kak OyITO HE 3Hal, YTO CKa3aTh.

24 OBH HanNpaBMAWCE TYA, FAE CTOST aBTOMOGHIIE.

25 He ycrienu oHM BOMTH B 3a7T, KAK CEAHC HAMANCH.

26 Exsa onu mogouuy K 3a6opy, Kak 3alasiia cofaka.

27 M=l OyzieM 3/1eck, IIOXA TH HE BEPHEILILCS.

28 Ou ckasan, YTO HAMKLIET BaM NOCIE TOTO, KaK 3aKOHYUT CBOH J¢-

29 He roBopHTe 00 ITOM, €CITH BAC HE CIIPOCHT.
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Functions Of the Noun Clause

Noun Ciause — Subject of a Sentence

A noun is commonly used as the subject of a sentence. A noun clause
may also be used as the subject of a sentence. The following illustrations
show how the noun clause is used as the subject of a sentence. The whole
clause is the subject.

What the chairman proposed was not practical.

How you manage on your income is a puzzle to me.

That their house is for sale is a well-known fact.

Where we could find an apartment was our problem.

The subject of a sentence usually tells what we are talking about. The
noun clause in the first sentence tells what was not practical; namely, What
the chairman proposed. In the second sentence, the subject, or the noun
clause, tells what it is that is a puzzle to me; namely, How you manage on
Your income. In the third sentence, the noun clause tells what is a well-
known fact; namely, That their house is for sale. The noun clause in the
last sentence tells what our problem was.

If you examine the preceding illustrations, you will see that the follow-
ing words introduce the noun clause: what, how, that, and where. These
same words are often used to introduce adjective or adverbial clauses, The
only way to be sure that you are dealing with a noun clause is to determine
how the clause is used in the sentence. If it functions in the way that a noun
functions, it is a noun clause.

Noun Clause ~ Direct Object of a Verb

A noun clause if frequently used as the direct object of a verb. A noun
used as an object completes the meaning of the verb and answers the ques-
tion What? A noun clause used as the direct object of a verb completes the
verb and in almost all cases answers the question Whar? Study the follow-
ing illustrations. The show how noun clauses are used as objects of verbs:

T hope (what?) that you will be promoted. {object of hope)

We knew (what?) where we could park the car. (object of knew )

Tell the manager (what?) why you are leaving. (object of tell )

1 believe (what?) that it is going to rain. (object of believe )

He understood (what?) what we were trying to do. (object of under-
stood )

The noun clause in the first sentence tells whar / hope. Tt is used as the
object of the verb hope. The noun clause in the second sentence tells what
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we knew. It is the object of the verb knew. The noun clause in the third sen-
tence tells whar you should tell the manager. 1t is the object of the verb tell.
The noun clause in the fourth sentence tells what [ believe. The noun
clause in the last sentence tells what he understood.

Noun Clause — Predicate Noun

A noun clause may be used as a predicate noun after one of the linking
verbs. Like the predicate noun, a noun clause used after a linking verb
means the same as the subject. It is also used to complete the verb. The
noun clauses in the following sentences are used as predicate nouns after
linking verbs:

The rumour was that he had left the city. (means the same as rumour)

That is what we agreed to do. (means the same as thar)

My first impression was that I had seen him before. (means the same as
impression)

The report was that he was drowned. (means the same as report)

The noun clause in the first sentence is that he had left the city. It com-
pletes the verb was and means the same as the subject rumour. The noun
clause in the second sentence is what we agreed to do. It completes the
linking verb is and means the same as the subject thar. The noun clause in
the third sentence is thar I had seen him before. It completes the linking
verb was and means the same as the subject impression. The noun clause in
the last sentence means the same as report and completes the linking verb
was.

Noun Clause — Object of a Preposition

Like the noun, a noun clause is sometimes used as the object of a prepo-
sition. You may often find it difficult to determine whether the noun clause
is the object of the preposition or whether some word in the clause is the
object of the preposition. If you study the following illustrations carefully,
you will see why an entire clause is the object of the preposition.

Give the message to whoever is in the office. (noun clause — object of
the preposition t0)

We did not agree about what the doctor ordered. (noun clause — object
of the preposition about

Do the job in whatever way you wish. (noun clause — object of the
preposition in)

In the first sentence, the noun clause whoever is in the ojfice is the ob-
ject of the preposition f0. Whoever could not be the object of the preposi-
tion because it is the subject of the clause. In addition, the sentence does
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not mean that you should give the message to whoever. It means that you
should give the message to whoever is in the office. The entire clause is the
object of the preposition fo.

In the second sentence, the noun clause what the doctor ordered is the
object of the preposition about. The sentence does not mean that we did
not agree about what. It means that we did not agree about what the doctor
ordered. The word whar could not be the object of the preposition because
it has another function to perform in the clause. It is the object of the verb
ordered.

The noun clause in the third sentence must be the object of the preposi-
tion. The word way could not be the object of the preposition because that
is not the meaning intended. The sentence does not mean that you should
do the job whatever way you wish. The entire clause is the object of the
preposition in.

Omission Of the C ing Word

Sometimes the word that introduces a subordinate clause is omitted. The
reason for this omission is to bring the main ideas and the subordinate idea
closer together. Although the best writers and speakers often omit the con-
necting word, you should supply it whenever there is any doubt about the
construction of the clause.

1 believe that you will be promoted. (that — subordinate conjunction)

1 believe you will be promoted. (subordinate conjunction omitted)

Noun Clauses Used As an Appositive

A noun is often used in apposition with another noun. The word apposi-
tion comes from two Latin words which mean “placed by” or “put near to”.
A word in apposition is placed near another word to expiain it or to iden-
tify it in some way. We often speak of a person and then add something to
explain who the person is, or to identify him in some way.

Mike, our janitor, is very accommodating.

We called on Dr. Allen, a famous scientist.

Paris, a city in France, is famous as a fashion center.

In the first sentence, the noun janitor is in apposition with the noun
Mike. It explains who Mike was. In the second sentence, scientist is in ap-
position with Dr. Allen. Tt identifies him as a scientist. In the third sen-
tence, city is in apposition with Paris.

In all three sentences the nouns that are in apposition with other nouns
are set off by commas. Sometimes the appositive is so closely connected
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with the noun that no commas are required. 1t is not good to set off the ap-
positive by commas in sentences like the following:

My brother Andrew is in London.

The poet Whittier wrote “Snowbound”.

Like the noun, a noun clause is often used in apposition with a word or
a group of words. When the noun clause is used in apposition, it usually
explains such words as idea, fact, belief, report, rumour, etc. Noun clauses
used in apposition are not set off by commas.

The rumour that John would be elected spread rapidly.

The fact that the contract was signed was important,

The announcement that the strike was over was received with cheers.

We enteriained the hope that the crew had survived.

Noua Clause And the Introductory “IT”

Sometimes a sentence begins with introductory word ir. In sentences of
this type the word i7 is not the real subject of the sentence. The grammati-
cal or real subject appears later. The real subject is often a noun clause.
Sentences are arranged in this way either for emphasis or for smoothness.

1t is obvious that you do not have money.

(I9) That you do not have money is obvious. (transposed order)

This sentence begins with the introductory word it. The real or gram-
matical subject appears later in the sentence. The subject is the noun
clause, that you do not have the money. When the sentence was transposed,
the word 74, which has no grammatical connection with any part of the sen-
tence, was dropped, and the real subject was put in its proper place.

The word it has only one purpose in sentences of this type. It fills in the
place normally occupied by the subject. Its function is similar to that of the
introductory word there. When the word it is used in this way, it is called
an expletive.

Sentences that begin with it as an expletive, or “filling in” word, are
easily recognized because they always follow the same pattern:

It is important that you see him at once.

(1) That you see him at once is important. (transposed order)

‘Words That Introduce Noun Clauses

A noun clause may be introduced by a subordinate conjunction. The
subordinate conjunctions commonly used in this way are that, whether, and
whether or. The sole duty of the subordinate conjunction is to connect the
noun clause to the main clause.
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I wonder whether they will recognize me.

John knows that he will be nominated for an office.

Whether (not if) should be used (o introduce noun clause used as the di-
rect object of the verbs say, learn, understand, know, doubt, ask, tell, dis-
cover, wonder, etc.

Ask John if he washed the car. (incorrect)

Ask John whether he washed the car. (correct)

1 did not know if he would leave or stay. (incorrect)

I did not know whether he would leave or stay. (correct)

A noun clause is often introduced by a relative pronoun: who, what,
whatever, whoever, whomever, whichever. Whoever and whomever are sel-
dom used in informal writing and speaking.

The agent does not know what he should do about repairs.

Give to the fund whatever you can afford.

A copy of the speech was given 1o whoever wanted it.

The relative pronoun that introduces a noun clause is sometimes called
an indefinite relative pronoun because it does not have an antecedent ex-
pressed in the sentence.

Sometimes the relative pronoun is used as an adjective in the noun
clause. A pronoun used in this way is called a relative adjective, or an in-
definite relative adjective because it has no antecedent.

I shall accept whatever salary is offered me. (whatever — adjective
modifies salary)

The manager always knows what course he should follow. (what — ad-
jective modifies course)

Noun clauses are also introduced by the adverbs how, when, why, and
where. The introductory adverb also modifies the verb in the noun clause.
The noun clause is underlined in the following sentences.

How we should invest the money is the question. (how — adverb)

He asked where the president lived. (where — adverb)

1 do not know when the speaker will arrive. (when — adverb)

Ex.1 Identify the matrix and the position of the N-cl in
the following I

1 What you are after is not here.
2 1 wonder when they will come back.
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3 That is just what I do not understand.

4 Tell us where our customer went.

5 Ifeared you wouldn't have returned in time to accompany me.

6 This was how it was done.

7 Whatever I said was accepted.

8 She knew that he was watching her with amusement.

9 What she said was absolutely true.

10 It depends on what is expected of me.

11 Does he mean what he says?

12 Itis true that | approached such problems with an exact method.

13 The danger in these things may assume undue importance.

14 A moment later he realized that this was an iltusion,

15 What seems odd to me is that he couldn't find an easier solution to
this problem.

16 They were unaware that George had won the third prize in a mile
race.

17 Whichever of the varieties are to be planted will be decided by the
gardener.

18 The shed looked as if it had been repainted recently.

19 He wondered what was the point of speeding up the work.

20 How old she was remained a puzzle.

21 That he would win the sharp shooting competition I never doubted.

Ex.2 Change the first, insert, sentence into an N-clause and then em-
bed it in the matrix sentence. Choose the conjunctive by the italicized ele-
ment, otherwise use "that"

Model: We shall meet in the park 2 where we shall meet
Something must be decided now.
Where we shall meet must be decided now.

1 She may be against it. It never occurred to me.

2 Paul doesn't write for some reason. It worries me.

3 She said iz. It was absolutely true.

4 They were going to manage it somehow. It seemed of no importance.

S He's gone somewhere. It is a mystery.

6 The related events were true to fact (or not). It didn't trouble Mrs.
Pearce.
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7 He suggests many things. It is always accepted.

8 She might come back any time. It doesn't concern me any more,
9 She did pot recognize him. It was apparent.

10 You will speak 1o the manager. It must be decided.

Ex.3 Answer the questions by using N-clauses of your own according
to the model.
Model: Question: What worries you?
Response: Why they haven't come.

What must be decided?

What seems of the greatest importance?
What can't be true?

What worries you?

What seems impossible?

What sounds surprising?

What is settled?

What is clear to ali?

What has never occurred to you?
10 What is difficult to imagine?

11 What is impossible to see?

12 What is out of the question here?
13 What annoys you?

14 What sounded like good advice?
15 What's unbelievable?
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Ex. 4 Translate into English:

1 YTo OH HMEJ B BHIY, OCTANOCH HEBBIACHEHHBIM.

2 UTO OHH XOTAT NPHCOSAMHUTECA K HAM, H TAK SICHO,

3 To, 4T0 MYCOPONPOBOA MONEIHOE M3OBPETCHME, — BHE BCAKOTO CO-
MHEeHUs.

4 TloueMy OH Tax [0AT0 He MHUIICT, GECITIOKOMT MEHS. s Hac BakHo,
K KAaKOMY BDEMEHH OH BBITIONIHMT 3Ty pafory.

5 Yro Bac 3aTpyamser? — Kakoil BapuanT BRGpaTs.

6 UYro Bac BonHyet? — [TogeMy ux o cux HOP HET.

7 To, 4T0 Ha €r0 NMCEMA HE OTBEYAIOT, PA3IPANKATIO €10,

8 C xeM GBI BBI HU IDYIKHIIR, 3TO M MOW JpY3bi.
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9 Kak b1 310 HH caenaerc, Gyner IPEKPACHO.

10 Mens 6ecnokonsIo, NOHPABHTCA JIH WM MOST CTAThA.

11 [ToRnepMUT OH HAC HIIK HET, He TAK YXK BAXKHO.

12 Ha cKonbKo 4enoBex HakphiBaTh CTOI — BOT, 9TO ceifuac obcyxnaer-
cs.

13 Yo Ty cTpannoro? — Yro ox e coobumi 06 3rom 3apaHee.

Ex.5 Change the first, insert, sentence into an N-clause and then em-
bed it in the NP-predicate position of the matrix sentence. Choose the

J7 by the italicized el otherwise use "that", "if",
whether", or "as if (though)",

Model: We should do it without delay —> that we should do it with-
out delay

My suggestion is...
My suggestion is that we should do it without delay.

I The conference is cancelled. The point is...

2 He was about to say something. He looked...

3 He wili cope with the task somehow. Is the difficulty...?

4 Tcould get tweed for a jacket somewhere. The matter is...

5 We want just these data for the report. The data seem...

6 We can find him somewhere before two o'clock. The question re-
mains...

7 She bought such lovely countrysiders somewhere. The puzzle is...

8 I can't agree for this reason. That is exactly...

9 This auditorium will have to seat a certain number of people. The
problem might be...

10 They may be willing to share the responsibility with us. The question
is...

11 The working instructions should be strictly observed. One of the
conditions is...

12 I might have caught a bad cold. 1 feel...

Ex.6 Permutate where possible the matrix and the N-clauses in the
complex sentences of Problem 7.

Ex.7 Change the following sentences with noun-phrases into complex
2 with conjunctives:

4
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1 This could be a good camping site. I feit...

2 He promised something. | depended on...

3 Isay this. He depended on...

4 We know something about the device. The instruction does not
agree...

5 He says all manner of things. People are always eager to listen to...

6 Coffee is a good pick up. She is always saying...

7 His words were doubted for some reason. She wondered...

8 The outdoor activities should be planned in this way. The teacher
spoke of...

9 He develops films somewhere. Can you think of...?

10 ft demanded our attention. We concentrated on...

My suggestion is for him to go through the exercise again.

We are puzzled by his being unable to see the solution here.

1 question their having accepted the plan.

We plan for the delegation to take the Moscow-Kiev-Tbilisi route.
We aim at John's studying the profession of a builder.

The question is the time of starting.

The trouble is the reason of his smoking so much.

The advice is for us to await further instructions.

The only way out seemed descending into the valley before the sun-
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10 We were surprised for him to have failed in the exam.

11 The point is the cause of the accident being possible.

12 The mystery is the manner the birds of passage finding their ways to
their nesting places.

Ex. 10 Answer the foll,
according to the model.
Model: Question: What are you thinking of?
Response: How he will take it.

ing q ions by using N-cl of your own

Ex. 8 Translate into English:

1 Bompoc B ToM, Kak HaM YTOBODHTb €I'0 Ha 3TO. 1 What did she depend on?
2 TpyaHOCTS, NIO-BHIHMOMY, B TOM, IOMIEPXHT JIK OH Hac, 2 Wha dQes beitellgous
3 Jleno B TOM, 9TO OHH HE [IOHSUIM 3aJaHUS. S Twhat d}d iy
4 Ona BbIryAAeNA TaK, Kak OyATO CIle He NOonpaBuiach. 4 “Whardid th? telegram say? q
S DTo KaK pa3 To, 4CMO HaM He XBATACT. 5  What doesn't the statement agree with?
6 Pa3pe 9To He TO, O YEM BEI TOBOPU/IM B NPOLIELX pas? 6 Whatdoticy suggn?st?
7 Benma B TOM, YTO MBI He 3HacM €ro aapeca. 7  What yvould you m'.n 7
8 [IIpo6nema cocTosna B TOM, KaK CIIPOEKTHPOBATh PyHAAMEHT. 8 What is she uncertain about?
9 What are you quite sure of?

9 Iloxoxe Ha TO, YTO OHM OYRYT HAM BO3PAXKATE.

10 Bonpoc B TOM, HY’XHO 11 BOOGIIE KPaCHTE Tapax.

11 OnHo U3 ycRnoBMit COCTOSNIO B TOM, YTO OH ZOJDKCH OblI CIEAUTH
3a IUTEPATYpPOH.

12 3amaqa B TOM, I/le HAWTH TAKHE KAPAHJALIK.

13 TpyasocTE, NO-BUAUMOMY, B TOM, 4TO CEPBAHT HAAO0 OTHOAHPO-
BaTh.

14 Bena B TOM, YTO JIAMNa B TOPUICPE Neperopena.

10 What were they unaware of?
11 What are you interested in?

. 12 What does he ask you about?
13 What do you feel?
14  What must you see to?
15 What must you agree upon?

Ex.11 Translate into English

Ex.9 Change the first, insert, sentence into an N-clause and embed it
in the N-object position of the matrix sentence. Choose the conjunctive:

1 Bee 3aBHCeNo OT TOTO, IONYYAT TH OHHM TETErPAMMY BOBPEMS,
2 4 He 3Ha10, KyJa OH NOMOIKAT STH KHHTH.
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10
11
12
13

51 He noHAN, 4TO Bac GECIIOKOHT.
Bri6upaiite, yTo xoTuUTE.
On copocui MeHs, Kak st 106paics A0MO.
51 muKorzia He KyMal, 4TO IPHENY B 3TOT TOPO.
51 He xyMato, 4TO HaM CICAYCT 3TO PACCKasaTh APYTHM.
51 4yBCTBOBAN, 9TO 30ECh YTO-TO HE TaK.
Huxro ne MHTEPECOBAJICH TEM, KaK MbL NPOBENY BpeMA.
51 Benen KCxypHOMY NEPEAaTh BAIIEMY APYLY, YTO BhI YEXANM.
Mer yBunens 10, 9T0 Ka3aI0Ch FIOTHHOMA.
O# CcKa3an T0, 4TO MHE [IOKA3aH0Ch CEPbE3HBIM.
Touemy BB BO3paxaeTe NMPOTHB TOrO, O YeM HE HMeEETe HH Ma-

nefmero nouaTHs?

14
eM.
15
16
17
18
19
20
21

A He cMor G CKa3aTh, uepes KaKyK YacTh FOPOLa Mbl POE3kKa-

He Mory cee npescTaBUTh, KTO €ro CIOAa Hociat.

Mot BUAENH, KaK HCKYCHO OBLIM [10/PE3aHBI KYCThI.

51 ckasau, KTO S, HO OHH He BILYCTHIIM MEHA.

OH KynHR TO, 9T0 5 GBl HC KyRHA2 KU 32 4TO Ha CBETE,
CripocH, XOTAT JIH OHM MEPCAOXHYTh.

S noauHsICS M CKa3all Anuce, YTO 7 YXOKY.

Pasge oH npeanommw, YTOGH Mbl HEpeHecTH cobpanue?

Ex.12 Comp the following object N-cle ini dals:
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Tell me what I am to do next.

Did he tell you where you were to go?

We wonder whether we are to call for her or not.
I wondered why we should worry.

Have you decided when you are to leave?

He was undecided which book he was to choose.
The question is what we are to do on Sunday,
The difficulty is what we are to say.

Ex.13 Comment on the following sentences and translate them:

1
2
3

It was as though he and she were in alliance.
That he would be the loser admitted of no argument.
T am beginning to believe that it may be the best thing for you.
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4 Ttseemed to me that nothing would move me now.
5 That is exactly what I mean.
6 What I am trying to tell you now is that I have changed my mind.
7 What puzzled me most was why I cared.
8 It was clear that whatever 1 might say wouldn't produce any impres-
sion on her.
9 Idon't need to say what you already have.
10 How he managed to pull through is a miracle.
11 Whoever did it wasn't seen.
12 She knew what was right.
13 That she saw the possible consequences was a puzzle to me.
14 ]t was a big question what to begin with under the circumstances.
15 They didn't know which to choose.
161 can't see why do it now.
17 The question is whether or not she will like what we have to tell her.
; 181t puzzled me why Tony should be waiting outside.
19 That he would prefer to join the Brigade all of us knew perfectly
g well.
20 That she didn't want to pursue the topic was quite clear.
21 He said he had lost the key.
22 We couldn't decide where to go or what to do.
23 I wish I hadn't told you.
24 That may be because she did it herself.
25 The plot of the book centred around what might seem an unimportant
affair.

Ex. 14 Translate into English:

1 1 RavuHaK AyMaTh, YTO BEI MIPABHI.
2 Yro ITaBen yxe OKOHYMN MOPEXOAHOE YUHIIHIIE, TOPA3HIO MCHA.
3 M5! He 3HAIH, YTO HEaTh.
4 Kyza noiTtu B BOCKpECeHbe, HyXKHO DEUIaTh 3apaHee.
d 5 Kak BBI 9TO IPHMETE, O9€HD BAKHO JULT MEHS.
6 Kax xanb, 4TO % HE 3HAI BAIIETO aPeca B TO BPEMIL.
7 OH pasMbIINAL O TOM, KaK W36eKaTh CKAHAaa.
8 UTo MEHs yRHBIAET, 310 HOYEMY OH CAM HE BHICKA3HIBACTCA.
9 OnuH U3 MYHKTOB NPOrPaMMEI COCTOHMT B TOM, YTODHI [IOCETHTE My3eii-
ycansby Typrenesa.
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[0 Temeps HaM HYXHO COCPENOTOYMTECA HA TOM, KaK OPraHW30BATH
MOATOTOBKY K BCTpEYE C BEIMYCKHHUKAMH,

11 To, 4T0 €ro OIMPOMETYABOE PELICHHE NPUBEET K TAKOH CCPLE3HOM
oIIKDKe, CASAOBAIO OKHIATE.

12 Kro 6ynet 370 BHIIONHATH, HEBAKHO.

13 Yro 6bl 1 HY rOBOPHII, HE HPUHUMAAOCH BCEPHES.

14 [ns mens 6e3pa3nudgHoO, 3HACTE HM BBl 4TO-HUOYAb O PEXTOBAHMHK
MIIHA HET.

15 Onu cripocunH, Ha Kako# BEICOTE HAXONUTCA NAHOPAMHAA IIOWIAA-
Ka.

16 Bbl IOHUMAETE, YTO 3TO 3HAYHUT, HEe TaK JIH?

17 UuTepecHo, CKONBKO BPCMCHH €Llte KaM HPUACTCA #KaaTh?

18 CnoprcMen pacckasall, 4TO OH NOGEAMN Ha ONHMIUICKUX HTPAX.

19 BEUIO TPy AHO CKa3aTh, CKOJBKO €My feT.

20 Tae s AoCTaN 3Ty KHHATY, 3aMHTEPCCOBANIO €ro.

21 Bce 3aBKCENO OT TOFO, 9T0 HAM NPEIONKAT.

22 B KaeTe TOro, 9T0, BO3MOXKHO, HUKOITA HE CIYUMTCH.

23 MBeI ONacanuch, 4TO HOroAa HCMOPTHICS K BOCKPECEHDIO.

24 To, 4TO OHM MOKOPHIM 5Ty BEPUIHHY 33 TPU HS, KA3aloCh HeBe-
POSTHEIM,

25 Koro Bbl RIOGHTC, He TPYAHO AOTAAATHCA.

26 OH 3HacT, 4Ero oH XO9ET.

27 Bppyr oHa YBHJCTA TO, YTO HCKaJa ¢ CAMOTO yTpa.

28 5l coxaleio o TOM, TO o CKasan.

29 51 ropXych TeM, 4ero Bei OOHIUCH.

30 s pazouapoBaH B TOM, KAK OH HAIWCAN CBOH AOKNAL.

31 B peaaKmuu MEHA YBEDHIIH, YTO OCTABAT HEOBXOTUMOE MCCTO ANs
CTaTbH.

32 Kak s CILTAHMPYIO CBOIO paboTy, 3TO HE TO, O YeM BaM CTOMT Gec-
TIOKOUTECS.
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